Section 5-5 The Sum and Product Properties

How do you solve the system of equations A+ B =10 and A-B =27
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How would you solve  sin38 +sinf® =0 ? Each equation has different strategies, if you
only have one equation to solve with sines or cosines, try to transform that side into a product of
sines/cosines so you could solve sinA=0 or cosA=0 2., pre dact prepe l.«hj
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Transform the sum or difference to a product of sines and/or cosines with positive arguments.

1. cos 56° - cos 24° Remember (454 — B) = cosAcosB + sinAsinB
cos (A+B)-cos(A-B)

to find A take 56 + 24 and divide by 2 cos(A + B) = cosAcosB — sinAsinB

. 3 QM(MB) cos (A-8) D, W ;
—" “tos 4o ebs Il —sinHBsinile Option A

A+B =D [CDSIJOCOS ’b*SIh‘{DS'h”"] ¥ Use Sum = product propeity

_%;L:_i LJSM L{D "Sin 16° ) chf\- cm?—' o P (/:\:)t.l_ff)sl.h @:g)
A=40 ! 506° a4°
s B le B I (%fd') 5"
T R T e
Dotion |7y Stn (A+8) + St (A~ -8) £ o' | \ = =) Sh4d Sin (b |

— | S— —

Aigz LY Stn (4.0)cos (-a. 3> + cosi. (>m(-‘3)k\ﬂ l* g

4-g-64 * sin (4.1 )eos(-a3) - cosl- (Jsin (-2-3) Sth A+st 8= A Sm (‘jﬁé) I (4,_9’)

A

— T -2 254l eos(-a3) - | : 1y~
AA =52 howe pe = 3 Sm(_l.?;ta. )cc:, (i.k -4

A=l }Asm(ql)cosf.m)) nent . o [ s .
=~ . e E — 2 1 A o+ . 2 b‘h é N -).
56 8 25 buw,use‘ Cesime 1> an even o Fuurch: e S)
Transform the product into a sum or difference of sines or cosines with positive ar,quments E - Q Sin(4. )CC&J

A
3. 2cos73°sin62° Because of the product cos: sin this would be sin(A+B) or sin(A — B)
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4. 2c0s2 - cos3 What has product of two cosines?
A coshossg = o8 (A18) + cos (A -8)

A tos(a)eos(3) = Cos(+3) + Cos (,;-3)
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Now knowing how to transform sums into products and products into sums, we can use those
strategies to solve equations. i e o o T e SR s
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